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For each guestion from 1 to 10, four options are given. Ons of them is the comect
answer, Makeyowdloioa{‘t 2. 3 or 4). Wite its comrect pumber in the brackets
provided. ' {20 marks)

1 The diagram below shows the different parts of a flower.

Which parts of the fiower will develop into a frult with seeds?

(1) AandB
{2) BandC
(3} CandD
(4) EandF ¢ )
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2 ‘The tabla below describes frulis P, Q, Rand 8.

Froit P Frult Q Fruit R Frt 8

v ithasa ¢ fthagmany |s KHhasfive | Wthasone
few seeds. seeds, seeds. seed,

« ithasa |+ Hispicy |» Whee * khasa
rough skin. and fleshy. | - hooks. fibdous husk.

Based on the table, which statement best explains the method of
dispersal of the frult?

(1) Frui Ris dispersed by water because it has hoaoks,

() Fruit S is dispersed by water bacause # has a fibrous tusk,

{3) Fruit Qis dispersed by animals bacauss it has many seeds,

{4} Fruil P is disparsed by animals because | has a rough skin. { }

3 Samuel ussd three similar frults and cut off parts of the wing-lkke
structure of fruits B and C as shown below.

Full ©
{parts of the wing-fke struchure cut off)

Samuel stood on a chair and dropped the frults one by one in front of
a fan that was blowing at a constant speed. He recorded the tme
taken for each fruit to reach the ground.

frult A (whole seed)

Samuel was brying % find out if the affecied the

time taken for the fruit to reach the ground.

{1} speed of tha fan

{2) size of tha winglike structure

{3} presence of the wing-liks structurs

(4} height from where the fruit was dropped ( )
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Which of the following Is correct?

Brocess(es) & X Process(es) & ¥
(1) dispersal " polination
{2) fertilisation palfination and germination
(3) | polnation and fertiisation | _dispersal and germination
(4) | polination and germination | fertiisation and dispersal

5 The diagram below shows the human famale reproductive system,

Which of the following parts A, B, C or [J doss the fertifised egg grow

and develop in?

N
(2)
(3
@

A

B
C
D
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&  The diagram below shows the reproductive cells of a male avel fervake
bamnan.

reproductive cell
of hurrian A

raproductive celf
of human B

Which of the folowing correctly describas husans A and B8 and the
pmmssmshmmthadagm?

Human A Humen B mess
{t) | temale male fertilisation
@ [ Tomale | make gerination
(3) { . male famale germinafion
O3 fnals | femals | fertiisation ()

7  The diagrams below show the reproductive parts of a human and &
flowering plant,

Which of the foliowing parts of the flowaring plant has the same function
aspatE?

M
(2}
{3
{4)

wOw >
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The diagram balow represants the changes in the states of water,

Which of the following does A, B, C and D represent? .

A ) & 0
{1) emdensaﬁan “evaporation freazing melting
(2) [ meling | ovaporation |- freszing | boling
{3) freezing condgensstion meling evaporation
(4) melting freazing bolling | condensation | (

A glass was filled with some water and ice. Water droplels were
formed on the outside of the glass within the next two minutes,

water.

What was the resson for the water droplets fo appear on the outside
of the glass? ' _

(1) The water was leaking from the glass.

(2) The water in the glass evaporated on the outside of the glass.

(3) The water vapour in the sunounding air condensed on the
outside of the glass.
(4} The ice cubes were evaporating fo form the water droplets on

the outside of the glass. (
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10 Asron saw his lce crearn melling on a hot day.

He made the fomwm_g statoments about the ice cream.
A The temperature of the ke cream increased,
B The ice cream gained heat from Asron's hand.

c Théﬁiéiieqha.mmmmﬂmrmg'ainhg heat from the.

surroundings.

Which statsmsnts are correct?

{1} AandBonly

(2} Aand Conly
w (3) BandConly

4} ABandC
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Booklet B {10 marks)
“For questions 11 to 13, write your answers in this boaklet.

The number of matks avaitable is shown in brackets | lattha endofeam question or
part Question. {10.marks)

removed.

11 The diagrem below shows a human female reproductive sysiem with some parls

{a) Will reproduction ba abis t0 take place? Explaln your answer. f2}

“The giagram below shows the reproductive paris of a flower with some
parts removed.

(b) Giva a reason why the Rlower will still be able to reproduce. ]

{Go on to the next page)
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t2 The scad of plant Z is shown below,

(s} State one characteristic that helps the-sped in s dispersal. 0

. The diagrams below show the dispersal of seeds of two plants.

_-——.n

ot -
¢ ’ . -
- L |
- . . . »
. -
. * *

™ b -
Diagram 1 Diagram 2
Key:
e JipesCtion of wind
parent plant
¢ young piant

{k) Which diagram shows the dispersat of seeds of plant Z? Give a reason
for your answer. \ i

(¢} Explain why plants disperse their seeds far away from the parent plasit, (2}

{Go on to the naxt page)
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43  MrLim heated & beaker of ice cubes for 25 minutes. Hs then jeft the setup
io coot down il it reached room temperature at the 35% minute.

The graph befowshwsﬂna&mgesin tamperature for the first 25 minutes.
Tempgrature of water {*C)
I

e v
B

1004

L]
]

FYpr)

-

r——

»

e e Vs ) 8 e e P 2

@ 5 10 15 20 25 30 35 40
Time {minutes) '

{a) Statethe pmasseshhﬂandcn it}
AB:

224

{b) Completa the graph o show the change of temperature of water from

the 25% {o the 40% mimute. [41
{c) identify the change in state of water that occurs at Cb, 1)
state of water to state of water.
End of Paper SCORE
3
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LEVEL
SCHOOL
SUBJECY
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ANSWER KEY

: 2021

: PRIMIARY 5 - .

s CATHOLIC HIGH SCHOOL
 SCIENCE

« WEIGHTED ASSESSMENT 1

BOOKLET A

QL |4

Q2

~

Qs

Qs |3

a3 2 |04
Q8 |3 Q9

k|

W

Q7

P

Q10

Qit jjal

No. There are no ovaries to produce eggs and fertalisation
cannot take place.

Stigma can receive polien grains from another flower and
fertalisation can stifl take place.

Q12 || a)

it's feathery-tike structure

Diagram 2 as it's wing like structure allows the seeds to be
bliown in the direction of the wind

it s to prevent overcrowding for competition for water,
nutrients, warmth and suniight.

Q13 || &

AB: Meiting
Ch: Boling

Yorapalihany OF weplier £

Rl L e

L) ] w P W as a0 B &

iiquid, gaseous

P R
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